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HOrK $5,000| 2O $1,200
HOE $1,200{52 O $1,000
EHOES $1,200|EL O $100
SILH A& $100,000|EOt& $100
#FOJR $1,000|EFO%E $100
H OHE $5.000|Z O $100
#O g L $500[EFO5 $100
O $1.000 [T O 5 $100
ROZE $1,000|21O%#, $2,000
BHOZAE $1,200) 52 O$#, $400
PROFAEED $4,595| 2Otk $400
PROFAEED $19,047 | R O %% $1,000
=0T $500[ = OF = $2,000
=0% T $200[)ZO%z $1,000
BROE $1,200|=0L0 $400
MOE $1,200{1OF5 $400
HOE $1.200{#ROZE $1,200
EOPE $300[2£O%4 $1,000
SO & $1,000{H O $200
ZO=E $1,000( 75§ BLEE AR/ H] $500
=05 $500[#O=E $200
£0% $300 kB EEARA H $1,000
A OHFES $500[FO= $1,000
HO& $600[FEOE $100
Ok $400[ EO#D $1,000
HEOZ $100[FROF $100
BIOF $100[BEOH $1,500
HEOEE $100[#OF $100
PROAL $600[ T O% $100
B O $300| T O $100
O $2,600| T O#% $100
FAOT $200[ T O=F $100
FO% $250[EO1H $100
PROIE $100[ T O= $100
BROZR $100[ T O $100
BROE $150[ T Ot $100
HOFET $200[EO¥ $100
FZOX $200[FROE $500
LHOLS $200 7% O <3¢ $300
HOE $200 | OF $1.000
F O % $100|# O $100
BROSE $100[m=O%E $100
BOF $800|E=O%F $500
PROEE $100|F O $100
TOHk $150|1750 $200
BROZE $150[FBOHE $200
BROZ $150|F O $100
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2IO& $100[m=OF $500
BROZZ $100[EO3L $100
RO/ $1,200|FHO4E $100
BROE $100[ & O1H $200
RO $100|BRO %] $600
BROE $100/21O%% $100
BROE $100|E=OHE $2,320
HOE $200|HOL= $3,000
HOWS $100 TO $3,000
RO $1,200|&F O BRI 5 $600
BO= $285|1820OF $300
HOZ $1,000[EOHF#S $500
BO% $1.000|1#EO38 $2,000
FAOE $1,000|F Ok $300
{HORE $1,000{ IOk $200
FOE $1,000| EOAI#HD $500
=OK $1,000| 5O $500
GO $1,000) O $500
GO $1,000) B O % $100
FOF: $1,000{FEOTE $100
FOEZL $1,000it O B $1,200
FEOH $100[=O $1,200
BROZ $200[ff OIT $1,200
RO $200 R O $100
FAOZE $500[EBOFE - $200
TOE $100[EOL $200
TO%& $100[EFOH1 $200
RO $200[F O $200
PR Ok $200| FOE $100
BROZR $200| EO4 $100
ORI $500)2F O % $100
#FO KRR $600[fH Ot $100
BO $1,000) POt $100
AHEOE $200[BIOF $800
FEORM $200[BIOF $800
O $100|BRO 05 $100
O $100[HO=82 $500
ORI $500[H=O%% $100
EOR $500[FRO=E $100
FOH $500|220 $2,400
H OLL $600 7 OF $2.400
FO¥E $1.000[FE O $1,200
FOH $100 it Ok $1,200
TOF $100[FRO#h $100
H OFk $600[FIOf% $100
O $200[BROZ $100
TORE $500[#RO $100
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AO= $1,200|EL O $100
s OFT $200[FO1a $100
FOE $200|HFOZE $100
FEOF $200[E O $100
O $200[EF 5 $100
HOE $100[fROL $100
ROKREFRL $1,000{BREO H $1,200
FPOUH $1,200[f1 O $100
H AR $6,000|21OZF $600
TR ST $60,000{#AOZE $8.400
HOJy $1,200) HHOF $100
FOxE $2,320[ i O%F $1,200
TOAIED $500) 5= Ok $600
=50 $500[BROF* $100
BROBRR $400[7= O $100
ROFE $600[FR O $100
FO% $800 R O $100
HO4F $400| EOH $100
BROTE $400[FROJE $100
BROX $400[FROfZ $100
BIOF $900[EFOi% $100
BOTR $900 | O $100
RO $1,200|5TF O $100
ROE $400[EF O f $100
PO#HE $400[5TO=E $100
FOZE $400[H Ok $1,200
O $400| ROFEE $1,200
ZFOBR $300[ EO& $100
2108 $900| O $100
FEO#K $15,000] O $100
SO $1.200|1kO%E $100
f e A AU S A R IR E] $24,956|FROEE $100
O $200[PRO= $100
EOT $5,000[FEOE $100
HOHFES $5,000{FRO#% $100
BIOZR $200[# O $200
BROZ $1,200|ZF O $100
+O&F $1,000|F=OEL $1,200
EOBL $500[#O=E $3,000
MHO= $1,200) &= O $400
BOF $2.400)+O 4= $500
HOZ $1,000| O $1,000
BO% $1.000| RO %E $1,000
MO $1,000| =0+ $200
{HORE $1,000)7k O $200
ROE $1,000|5E O $1,000
2O $1.000|FO&E $1,000
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FOH $1,000|EO%z $1,000
GIOLS $1,000[#O ke et $500
O $1,000) &£ OBt $300
sTOEX $1.000)5ROFEH $500
MO $200) 77§ BLEE AR/ E] $500
ROKREFL $1,000[ & O $6.000
BROZD $1,000[FRO 57 $100
FHOrtE $200|&£O EERIZ $600
=0T $500[E Ot $500
B Ol $600[FEOH $1,500
BO $1,000|1#E O $100
HOHE $600[ T O% $100
PO $5,000{ T Of= $100
=0% T $200[ T O#F $100
RO $600[ T OF $100
£ZO0/% $600[EO1H $100
£ZOH $600| T O= $100
FOZE $600[ T O $100
OB $600[ T O#h $100
Z0= $600| £OZ $100
sTOEE $600[FROE $500
PO $1.200[HEO $100
O $1,200)7#% O Tt $300
A OHE $600 | OF $1.000
FOFHE $600|# O $100
B Ofiig $300|E=OE $100
#O g L $500[z= O#F $500
sTOF $600|FOH $100
FOE $6.000[750 $200
BOE $200|F Ot $200
B O $200|F O $100
BEOsH# $200[5=OF5 $500
FOE $1,000| O $100
HO= $500]F O%H $100
BOZ= $1,200{E= O $300
PEESFHAERE $30,000| & O $200
BIOF $500 R O <54 $600
O $100/21O%% $100
MO $3,000{ 5Ok $3,000
BHOSE $1,200|BEO4F $600
BOZ $100[#kOF5 $60,000
w0 $1,200{ = O $2,320
HOZ $2,000[ZF Ok $300
BO% $2,000{2£O % $2,000
FAOE $2,000{BR Ol $2,000
{HORE $2,000{Z1OF $500
ROE $2,000{#OJI $334,340
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ZOM $2,000|2O& $100
GIOLS $2,000{ IOk $200
GIOLS $2,000| EOAI#HD $500
O $2,000|= O $500
sTOEX $2,000{H O $200
O $200| 52 OF5 Il $100
s ORF $2,320|5=OL $215
FO% $300| EOF=E $2.400
HOH $200|E= 0Oz $1,200
HOE $5,000|=OfF $1,200
LOZE $5.000) &= O $1,200
i OF] $1,200|ZF O $100
s OBk $1,200|1ZOtG $100
s O $300|HFOZE $100
FORRBH $600[E O $100
O $3,000|ZL O $100
TOXE $100ta O $100
JTOR $100| =05+ $200
BROH $1,200) &= O $400
£0% $300] 5O /& et $500
SO $500[FO= $1,000
= O $400|210F5 $100
FIOK $200|#EOH $1,000
FOAED $500)FE=O%= $2,000
=50 $500[fFO $100
FO $300| RO $1,200
O $3.000|18 O $400
O $500[frO% $1,000
AR YIR R A IR H] $3.000|1#E O $1,200
i e A e S A R IR & $40.850|22OF5 $300
BO== $1,200|FO%z $1,000
HOZE $1,200)BEO $600
g7 O] $1.200[# O $400
i O $1.200[EFHOR $1,200
FORd $1,200| O3 $1,200
BROF $1,200[AEOF % $600
PO $1.200[5RO%E $400
ZIOF $1,200)22OF% $400
#ROZE $1,200|122OFE $400
s OfE $1,200|1F O $400
=HOS $1.200(EF O $400
= ORAT $1,200|120= $400
ROFH $1,200) B OBE $500
RO $1.2007R O $1,200
RO $1.200|1kO4F $500
BROBE $1,200[FEOtF $500
HOERE $1.,200{ 52 Ot $1,200
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EOEMH $1,200|1#ROFF $1,200
BOE $1,200|f O A $1,200
EOFK §1.200[F O $400
SOk $1.200[ 7 OB $400
BOME $1,200{ FOFHH $200
FO% §1.200[FEO 1 $1.200
e §1200FEOE $500
O $1.200[ kO $500
SFORE §1.200[Z00% $500
O §7.200[Z O $500
ZIOH $4,800|5F O $400
EOB §7.200[ 0% $400
EOB $10,000[ O $400
ZO% §2.400[ O $30,000
ZO% $1.200[ £OJ, 5,000
#OlE $1.200[&0 $10,000
205 $1200[E ORI $600
EOLL §1.200[ MO $500
O §4.800[ O = $100
O $1.200[B O%F $130
TOTt $1.200(EO% $600
HHOE §7.200[2 O $600
BEOH $1.200[EXO 48 $600
HOE% $1.200[ 2 O3l $600
£0 $1,200|kO $600
HOk §1.200[BE 0% $600
FOkE §7.200[B O $600
TOF 54.800[BEO % $600
HOE §3.600[ O % $600
BHOZR $3,600|OF $600
ZIO% $1.200[B O $600
HO% 54.800[ O $600
aR O $1,200|1£O%i; $600
OB $4.800[ % O $600
R OFF $3,600|EEO $600
EROF $3,600|F ORE: $600
5= O §1200[BROETE $600
4Ok $2.400[FEOHR $600
MO%E $1,200 (B O $600
O §1.200[# O 77 $600
FEOT $1,200|ROF £ $1,000
EORE $2,400|;HO=E $1,000
=0 e $3,600|Drs. JOKO WURYANTO $5,000
SOL| $1,200[ O $300
HEOFL $1,200|=O %1 $100
5O §1.200[B0% $100
2O §1200] 0% $300
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RKOH $1.200[# O $100
HOE $1.200|BOTE $100
=0 $4.800|BROZE $100
SO $2.400| B O+ $200
= ORI $3.600|EFO=L $200
=OH $3.600| O $200
#EOHi $2.400|EFOt% $200
O $1.200[5ROEFH $1,400
RO $8.400| = Ot $1,200
HOA $2.400) % O $100
+OFE $2,000|FRO St $100
O $1.200|FOFE $100
=0 $1,200| 2O $1,000
= O R $2,000|1210t% $100
RO $1.500(BFOZ# $100
HOZ $5.000) 4L OF#% $600
Ot $2.000| = OF, $400
OB $10,000{FFOEE $100
BROTF $3.600|B O $100
FRO& $4.800|FROZE $100
HOBE $1.200|BRO#F $100
BROTEE $1.200| = O $400
HORE $1.200[#c O & $200
FOIE $2.400{EF O $100
FEO1 $1.200|EOF $5,000
A O $1,200|HO1= $3,000
BROME $1,200TOZ $3,000
BHOME $2.400|/E OFEED $2,320
BHOH $1.200|Z1O $200
BHOK $1,200| E O $1,000
HOHL $1.200[£ 0% $1,000
FEOX $3.000[4EO# $500
21O $4.800{ B O $100
O35k $1.200|EOf& $100
ROHE $10,000|EBO=ZE $100
O $1.200[EO1~ $100
=20Fa $1.200{EFCO 5 $100
{ROM $2.400[2EOH $100
Jiti O $2.400(F O $1,000
KO $1,200| =0 F $200
fFOE $1,200|E Ot $400
B O% $4.800|21075 $300
PO $1.200|21075 $300
PO $1,200] O $500
INNES ey st $6,000(i= O $500
A ZERE AR A ] $2.000[#c O $500
IO $1.200|FHOE $3,000
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RO $1,200[fR O % $100
BO= $1,000[[ O $100
BOE $1,200[FRO#% $100
ZREE $50,000[fR O£ $100
FOF $2,400| tHOFE $100
FOF $2,400[fROF $100
EORE $5,000[z7mOF $100
=0O%F $200|FROE $100
O $400[ B O $100
HOEH $2,500| FO#E $100
FOEH $2,500[FR Oz $100
EEOH $300| RO $100
O ezt $500[5FO%% $100
FON $1,000(FF O $100
KO $1,000[FF O $100
HOGE $200[5F O &= $100
HO¥Y $20,000[ZFOE $100
ROKREFRL $2,000| HO## $100
0= $2,500[EEO £ $1,200
0= $2,500| O $1,000
RO $300| B Oz $1,000
ER O $2,000|1210O%&F $100
EO $1,200|BIOZR Bk $100
BOE $1,200(210 /= $100
BOIE $1,200| 21O $100
O $1,200(ZOE $100
PO $1,200[EEO#E $100
O T $1,200|ZPOZE $100
HOBE $1,200(21O#H $100
2O $1,200|&£ O FREIZR $600
BHO& $1,200[220OF5 $300
g O# $1,200|EF O MR $500
=OAE $1,200 38O E $100
SOMNE $1,200)3H O $3,000
wOE $1,800]|8O e L $500
TROF $1,800[FHOF $200
A OHi $1,200|fFEOREAE $1,000
O $1,200| = OFk $300
S OHH $350(BROFE $100
PR O%F $250|1#R O $100
TROBESZR $500[ T O $100
BOR $200{ TOJE $100
HOH $200 T Of $100
RO $200| T O=F $100
Z0O#H% $200{EO $100
ZEORF $200[ TOZ $100
FOZE $200{ T Oz $100
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OB $200[ T Ot $100
Z0= $200[ =0 $100
TOBE $200|fH Ot $500
A OHR $200 7% O <3t $300
FOFE $200|# OFs $1,000
sTOF $200|# O $100
BOE $200[m= O $100
B OXE $200[5= O#F $500
FOE $1.000[ZFO% $100
MO¥E $1,200150 $200
BIOEZ= $500[FBOHE $200
210 $1.200[ZFOfE $100
A O&E $1.200[t5 O $100
HOTR $1,200|5 077 $500
£0% $300[EO3ZL $100
SO $500]F O%H $100
BEO% $1,0001 % OtH $200
BIOF $500|BRO % $600
A OF5 I $1,200[21O%% $100
FOE $1,200) B O % $100
HBOE $100| FOE $100
O $1,200{FO4 $100
EEIOES $3.000[FROZE $100
=0 $1,200) B O$#, $100
O $1.200[FR O $100
HOF $1,200{ kO $2,320
s OHk $1,200) HHOFE $100
RO $1,200{ IOk $200
BROE $1,200|BEEOF $100
RO $1,200|BHO $600
RO $1,000)x O $100
AOE $5,000{PBE O $100
sTO%& $1,200| PR Ot $100
BOZ $100[ OB $100
FOEKE $1,200) B O£ $100
ROBE $1.200|BROt% $100
2O&E $1,200|5FO%% $100
#EODR $20,000|f O $100
RO $1,200|5TF O $100
O $1,000)5F O e $100
FORMH $600[5TOZE $100
tROZE $600| EOAEHD $500
MHO& $600[= O $6,000
AOE $600| EOH $100
PROAL $600| EOF $100
B OFifi $2,320| HH Ot $100
=0%F $30,000]= O $500
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PAR 5w B Dy ey $500,000| 52 Ot $100
HOZ $1.455|&= O $500
BO% $1.45515FO1= $1,500
FAOE $1.455|8 OFE $1,500
HOE $1.455[M O $3,000
SO $1.455) 3Ok $600
=OK $1.454| 88O $2,000
FOH $1.454|BHFSF $10,000
GIOLS $1.454|FO& $1,000
O $1,455(#0 ke et $500
FOFEZL $1.454| =0O%F $1,000
= OFF $1.454[ROE $1,200
LOHEE $200[ O $1,200
MHO& $600|=OF+ $200
BIOZR $200[= O] $400
PROAL $600[7ROL $215
TOAIED $500| 5O $1,000
RO $1,000) % O% $600
EO% $1,200( % Ot $600
HO® $1,200)% O# $600
£01E $1,200)% OfH $600
BROdim $1,200)1 8 O $600
PROZ $1,200{% O= $600
=50 $500] & Ot $600
B O $300[EEORY $600
AOT $300[= O $600
HOF5 $1.200[E O $600
PO $1,200|EF O $600
HOH $1,200[# Oz $600
f e A e S A R IR E] $23,448| SOty $600
PROZE $100[#F O $600
BROZ $200[#F O $600
RO $200[=OfE: $600
RO $200[E= O/ $600
BROME $200[= O $600
BROZR $200(#CO%5 $600
BROE $100[EBOLL $600
ROE $1,200]% OL $600
B OF $1.200[#EO = $100
RO $1,200) &= Ot $2,000
w1 O $1,200[#5O%E $100
BRO$ $100[EEIE R $1,200
AHOE $200[EEEIEAE $1,200
O $200FR nr == $1,200
HEOH $200| EH1E $1,200
BROE: $100| F &y $1,200
HOE $100 i & 5% $1,200




MEEANSETRAIDFEHEENESE

102 EE
it Pk A SE
Ol $1.200| & ¥ $1,200
O $1,200| & $1,200
HOE $1.200|1 &5 $1,200
PROT $100|FERIL $1,200
O $100 R 5 $1,200
PRO®E: $100| A $1,200
RO $100| it &% $1,200
O3 $100|{F BN $1,200
BROJE $100[~ & 5% $1,200
RO $100|HOL= $3,000
s O $100)TO $3,000
BROZ $100[#O 5 $2,000
sTOFE $100| EOAEHD $500
sTO = $100[= O $500
sTOE $100[= OFd $300
ROt $100| EOFK $1,200
O $200fR O 5 $100
MO $1,200) & OEY $2,320
FOBK $1.200(#R O $100
FOEE $1,200| T O% $100
s OFT $200| T O $100
FO®E $200[ T O#F $100
FEOF $200[ T OF $100
O $200[ZO1H $100
FHOrtE $200| TO= $100
BROHL $1,000) T OFE $100
AO+ $2.400[ T O## $100
BEOR $10,000{ 0% $100
BOHE $10,000|210OF% $600
HOMR $100[FR O $500
#Ola $100[7&O E e $300
O $100|# OF $1,000
2O $100|# O $100
O $100[m=O%E $100
FOF $100[z= O#F $500
EBOZ $1.000[ZO% $100
RO $1.000[750 $200
RO $1,000|FL Ol $200
= O $400|F O $100
£0E $2,000| 5075 $500
#O g L $500| O $100
FOE $1,000|FHRO4E $100
=0% T $200[ & O1H $200
OB $500|BRO % $600
TOE $100/21O%% $100
TO%& $100[BRO% $130
H=OZHE $1.000[22OF $300
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g OH $1,200|FO%z $1,000
g O%> $1.200[5H Oz $50
O $100[br O $1,000
TOF $100[BO%x $200
ROFEHE $1,200{H O $200
+OZ8 $1.200{52OFRd $70
O $1.200{ZIOF $100
TOF% $1,200|ZF O $100
TOFH $1,200|1ZOtG $100
O $1,200|EfO%E $100
PRORME $1,200|ZO1= $100
PROZE $1,200|EF O $100
=O%E $1.200 [T O $100
ZOF $1,200[FIOFEx $100
HOBR $1,200|121OJ= $100
RO $1,200|121O $100
g OFF $1,200|1210& $100
8 O $1,200({FFOE $100
ROE $1,200)1210 $100
ROE: $1,200|121 O $100
RO $1,200|=OAE $2,000
FO& $1.200[fRO= $1,200
ZO1 $200[ 5 OR% $1,200
BIOF $800[7ROL $315
FORMH $600[Ex O EERIZ $600
£0% $300[ & O $300
SO $500[3EOF $100
BEO% $1,000|5FO4E $100
BIOF $400[FE O $100
ZOF $100[FEOHE $100
O $100[H= O $100
TORE $500[FEOREER $100
FO& $1.000|FO& $1,000
FOFEH $100[EB O $500
sTOHE $100|EO%x $1,000
SO $500[ = O $400
BO#E $2,000[fAT O $10,000
sH AR AATR N E] $1,500{EO* $1,000
BROS $100[/RO%E $1,000
HO{ $3,000[5O%E $100
LOZE $3.000{ =0+ $200
FROH $1,500[#O ke et $500
TOXR $100 kB A R H $2,000
JTOR $100[FROF $100
TOE $100[#O $100
JTOE $100| T O% $100
B OH $100| T O $100
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1O0= $100[ J O#F $100
T OkE $100[ T OZFE $100
T O## $100[EO1H $100
TO¥ $100| T O= $100
BROYE $500[ T O $100
RO T $300[ T Ot $100
A OFE $1.000{E0OZ $100
HOWEIE $100[f O $500
HOE $100 7% O <7t $300
w0 $500 ] OF $1,000
FOH $100|# O $100
70 $200|E=0O%E $100
SO $200[5= O#F $500
AOH $2,320|F O $100
FORE $100[ 5O $200
TOX $100[#BOHE $200
BRO&H $100[F O $100
g O $200[5=OF5 $500
ZFOBR $300[EO3ZL $100
BRO %% $600|fH O%H $100
FRORL $300[ & O1H $200
FO*E $1,000{BEO <% $600
MOFER $1,000) B O % $100
=OIESR $12,000[ FOE $100
PO $2,000| O $100
BIOZR $200[fRO=E $100
TOAIED $500|PRO# $100
RO $1,000[FROLE $100
=50 $500[ HHOFE $100
B Ofiig $300)TOEE $200
TON $1,000|BEEOF $100
ROZE $1,000)x O $100
FAOT $300[FR O $100
HOE $200 | O $100
RORFHEZ $3,000{ O $100
BHOM $1.000) B O£ $100
BROZE $1.200|BR Ot $100
SOt $1,200|5FO%% $100
ZOFME $1,200(PE O $100
O $1.200[FFOFE $100
RO $1,000)5F O e $100
ZF O $1.200[FOE $100
SO $400[ EO& $100
FOM $400| EOF $100
PROSE $1.200{tH O $100
FROE $5.000)F O B $1,000
PROZE $100[ O $500
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BEO $1,200(21O#& $5,000
FOE $100|BFEZ4n $1,200
FO4% $100| EOAIHD) $500
P OE $100[5#H O $3,000
PO $100|=O% $500
EOMR $100[EF Ok $364
HO%E $100[fE0O $1,220
EIO%E $100|FHOFE $2.320
O $100[OE $500
EOF $100[BIOFF $500
PO $100[ZIOZk $200
F] O $100[=O %+ $20,000
HOBE $100[#OH $400
HOE $1,200[#R O $400
RO $100[5R O $400
FOHE $100[Z2O#% $400
PO $100[ZXOFF $400
P Ot $100[EFOZE $400
FO5 $100|EEOFE $400
P OJFE $100[(Z0= $400
PO $100[FFOFEE $400
FFO% $100(F@EOFA $400
[EH@)E: $100[5FO% $400
FFOEE $100[#5OFE $400
FFOJ $100[#5 O $400
FOE $100| =O %+ $200
RO $1,200[z=OLL $400
HOE $1,200|8# O e Rt $500
HO $1,200| 0 & $1,000
HOZ% $1,200(BE OBR $700
FOH $100PROE $1,200
+OF $100{#RO4T $700
HOH $100(PE OFF $700
FEO® $15,000(ZIOF $1,200
SO+ $500[#5O%k $1,200
O ERE $500[5ROE $700
EESF $100[FRO %k $700
20F% $300[FFOZ& $700
EOMES $5,000[FF O $700
=0%F $200[$EOIE $5,000
ZOF% $200(210%E $1,200
Z0L- $200 kB AR A H] $2,000
EO# $1,000[EO% $500
Z0E $1,000(pH O%E $100
O $1,220|FOF $200
O $600(EO7= $200
ESOR $600[HOz2 $1,000
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Z Ol $500[ EOE $100
PROIE $100| EO4 $100
BROZR $100[ = Offg $1,200
BROZ $200[FROFE $200
HOFET $200 | O %k $200
HOL $200|f O $200
H O $200[FOHk $1,200
HOE $200[#E Ot $100
BROZE $200[OF=s2 $500
RO $200[HO%% $100
BROME $200[ 5O $1,000
BROZE $200[FROFE $100
ZF O $100[FRO#h $100
BROSE $100[#RO $100
BROXE)G $100[O & $200
2IO& $100[FEORI $200
BROZZ $100[HO%H $200
AHOE $200 R O $100
FEORM $200[ HHOFE $100
AEOH $200[ EOH*= $100
=0%F $1,000[;& O $1,000
0 $400[;E O $1,000
ZO% $400| EOH $1,000
ZO% $400[BROF* $100
FOM $400[7= O $100
HOE $400|BEOH: $100
Z O $400 | O $100
HO#E $400| EOH $100
ZOf%k $400[FROJE $100
HOZE $400[fR O $100
HO $400[EFOi% $100
O $100|FR O $100
OB $600|5FOE $100
O $200[EF O f $100
O $600[EFO f, $100
BROE $100[5TOZE $100
RO $100| EOH $100
PROZE $100| FO= $100
BRO#E $100[HHO#H $100
PO $500[F= O] $200
= OB $1.200|1#FO%E $100
ZF O3 $500[52 Ot $400
HOE $200[ = OF4 $400
HOWS $100[ EOR $300
EOPE $300|E=OFF $200
w=OFT $200[FE O $200
FOE $200[FEOfZ $200
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O $200[ZEOnft $200
TEQNR $200[ O B $5,000
Ex OB $600)E Ot $500
RO $6,000|F O $500
R B $6,000| F O $500
w= O $2,000] O $500
KIBEA R/ E] $2,000|FOZ $500
PR O $750[FHO% $500
BIOF $100[EAOFI $1,000
FEOH $750[ ORI $1,000
PROZE $750[FHOF% $500
RO $750[FHOF% $500
RO $100[EO% $1,000
O $1,000{EO Z 1k $6,000
FOE $1,000|H O $5,000
FO&% $1,000 TOF $5,000
BROBH $1,500|122055 $300
BIOZE $100[ EOAEHD $500
21O $100|=OM% $500
Z10& $100[EFOERREIZ $600
#OHE $100[EFOHHES $500
O $100[$EO%F $200
TOW $100[ER O $300
TOR $100[EAOF!I $2.320
TO# $100[#R O $2,000
TOE $100[FEO= $100
B OH $100[#5O%E $100
TO= $100[E#EO= $100
TOkE $100[EEOE $100
TO# $100[EEOHE $100
OB $100|EEORERE $100
RO $500[FFOE $500
BOEH $300[= O $500
O $1,000E O $500
H O $100[FEOIE $100
=OE $100[FROZE $100
s OfF $500[FE O $300
2OH $100[EROZET $200
750 $200[EBO=Z $200
O $200[ER O $200
FOZE $100[EFO% $200
FZORE $100|ZF O $100
FEOME $1,000| B OBt $100
O $1,000| Ot $100
O $1.000|fO FE $100
BIOH $100[FE Ok $300
+OXZ $100[P Oz $300
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P O%5 $100(fOZ $300
& OtH $200HOFES $500
PO 4 $600[FEO 2k $100
210%z $100(21015 $100
TROE $1,200[FEOZ# $100
2O $200[FRO#H $100
FOMED) $500|#ROE $100
O $2,320[FROEE $100
=05 $500[PE O~ $100
20=E $250(p OFE $100
210F $400( P O $100
21O $200[#RO7E $200
KOKFiE>~ $1,000[EF O $100
O $600( P Ok $14,400
@ OHE $600[ZZO = $20,000
8 O¥ $600(ZIOFF $600
o OE $600[FROF $500
O $600(fE O#E $100
mOE $600[FHO T $2,400
o OMgEE $600[FHO T $2,400
EOK $600|2OF $500
=OE $600(PE OE $100
B O $600(FE O$8 $100
O $600[PEOFE $100
HOZE $600|FEOHH $1,000
SO $600[HF O $100
MO $600|EEOE $100
MO $600[HFO % $100
=01k $600[HEF O $100
=OKE $600[H[ O F $100
=OHH $600( PR OLE $100
BOF5 $600[faf O3 $100
EIO4L $600[#ROF $100
O3 $600| T OZ $100
HO% $500[ T O $100
P Oz $100[ T O $100
FOE $100[ T OF $100
FO4% $100[E O $100
RO $100{ TO= $100
HOES $500[ T OJE $100
HEOZ $100{ T O%# $100
P OE $100[FOE $100
P O#% $100{HHOfE $100
PO $100[ZIOZk $200
EOHE) $10,000{FHO $6,000
PO $100[/FOE $300
HOBE $100[FEO5FE $100
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BROF $100|#H OFEE $100
O $100[m= O $100
BROEE $100[FROF* $100
RO $100[z= O $100
TOH $100[FR O $100
BROJkE $100[BR O $100
BROf $100[ OB $100
s O $100[FROLE $100
BROZ $100[FROfZ $100
sTOFE $100[EFO% $100
sTO = $100|fR O $100
sTOZE $100[5TO*E $100
O $100[EFO f, $100
TOF $100[5TOZE $100
tH Ot $100[m= O#F $500
MO $100|FOH $100
£08E $300[H Ot $100
£Z0% $300[ 50O $200
BRO%F $130[FOHE $200
T O $70|F O $100
KRBT $20,000|5OF5 $500
=0% T $200[ = O $500
HO= $500[EO3L $100
RO $300|FH O%H $100
O $1,000) 8 O $200
#O Jg L $500|BRO % $600
BOR $500(21O%% $100
SO $200[ O $1,200
ZOH%E $2,000|= O & $2,000

ST $14,100
/et $1,819,801 /et $956.789
/et $2,776,590




